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MA – FR Answers

Chapter 3 Accounting for Government Grants and Disclosure of Government Assistance – Answers
Answer 1

The results of the company for the four years of the machine’s life would be as follows.

(a)
Treating the grant as deferred income

	
	Year 1
	Year 2
	Year 3
	Year 4
	Total

	
	$
	$
	$
	$
	$

	Profits before grant & depn.
	50,000
	50,000
	50,000
	50,000
	200,000

	Depreciation
	(25,000)
	(25,000)
	(25,000)
	(25,000)
	(100,000)

	Grant
	5,000
	5,000
	5,000
	50,000
	20,000

	Profit
	30,000
	30,000
	30,000
	30,000
	120,000


Balance sheet at year end (extract)

	
	Year 1
	Year 2
	Year 3
	Year 4
	

	
	$
	$
	$
	$
	

	Non-current asset at cost
	100,000
	100,000
	100,000
	100,000
	

	Depreciation
	(25,000)
	(50,000)
	(75,000)
	(100,000)
	

	
	75,000
	50,000
	25,000
	-
	

	
	
	
	
	
	

	Deferred income
	
	
	
	
	

	Government grant
	15,000
	10,000
	5,000
	-
	


(b)
Reducing the cost of the asset

	
	Year 1
	Year 2
	Year 3
	Year 4
	Total

	
	$
	$
	$
	$
	$

	Profits before grant & depn.
	50,000
	50,000
	50,000
	50,000
	200,000

	Depreciation*
	20,000
	20,000
	20,000
	20,000
	80,000

	Profit
	30,000
	30,000
	30,000
	30,000
	120,000


* The depreciation charge on a straight line basis, for each year, is 1/4 of $(100,000 – 20,000) = $20,000.

Balance sheet at year end (extract)

	
	Year 1
	Year 2
	Year 3
	Year 4
	

	
	$
	$
	$
	$
	

	Non-current asset at cost
	80,000
	80,000
	80,000
	80,000
	

	Depreciation
	20,000
	40,000
	60,000
	80,000
	

	
	60,000
	40,000
	20,000
	-
	


Whichever of these methods is used, the cash flows in relation to the purchase of the asset and the receipt of the grant are often disclosed separately because of the significance of the movements in cash flow.

Answer 2
The applicable standard relating to this transaction is HKAS 20 Accounting for government grants and disclosure of government assistance. The principle behind the standard is that of accruals or matching: the grant received must be matched with the related costs.
Government grants are assistance by government in the form of transfers of resources to an entity in return for past or future compliance with certain conditions relating to the operating activities of the entity. There are two main types of grants:
(i)
Grants related to assets: grants whose primary condition is that an entity qualifying for them should purchase, construct or otherwise acquire long-term assets. Subsidiary conditions may also be attached restricting the type or location of the assets or the periods during which they are to be acquired or held. In this case the condition relates to the cost of building the hotels, which must be $500m or more.

(ii)
Grants related to income: These are government grants other than grants related to assets.
It is not always easy to match costs and revenues if the terms of the grant are not explicit about the expense to which the grant is meant to contribute. In the case of Norman, the intention of the grant is to create employment in the area, and the building of hotels is for that purpose. However, on balance, the grant can be seen as capital based, because the amount is not tied into payroll expenditure or numbers of jobs created, and the repayment clause is related to the cost of the asset (building of hotels). Accordingly, HKAS 20 allows two possible approaches:
(i)
Match the grant against the depreciation of the hotels using a deferred income approach.

(ii)
Deduct the grant from the carrying value of the asset.
If the company feels that the cost will not reach $500 million, a provision should be made for the estimated liability if the grant has been recognised.
Answer 3
Coate should determine, apply and disclose appropriate policies covering the acquisition, the presentation and measurement of the certificates in its financial statements.
The applicable standard relating to the green certificates is HKAS 20 Accounting for government grants and disclosure of government assistance.
The principle behind the standard is that of accruals or matching: the grant received must be matched with the related costs.
Government grants are assistance by government in the form of transfers of resources to an entity in return for past or future compliance with certain conditions relating to the operating activities of the entity. A government grant is recognised only when there is reasonable assurance that the entity will comply with the conditions attaching to it and the grants will be received. In the case of the green certificates, the condition that must be complied with is the environmentally friendly production of electricity, as verified by the independent audit.
There are two main types of grants:

(i)
Grants related to assets. These are grants whose primary condition is that an entity qualifying for them should purchase, construct or otherwise acquire long-term assets. Subsidiary conditions may also be attached restricting the type or location of the assets or the periods during which they are to be acquired or held.

(ii)
Grants related to income. These are government grants other than grants related to assets.
Since Coate can trade the green certificates, they are not long-term assets, and therefore fall into the category of grants related to income. They must be matched against the related costs of production of 'green electricity', as they are a form of government compensation for these costs.
There are two possible ways of presenting the grants (green certificates).

(i)
As a credit in profit or loss, either separately or under a general heading such as 'other income', or

(ii)
As a deduction from the related expense.
The green certificates are items held for sale in the ordinary course of business, and therefore should be recognised as inventories in accordance with HKAS 2 Inventories. Green certificates that are unsold at the end of the reporting period are included in inventory and charged to production as part of the cost of sales.
A deferred income approach is used to match the grant to the related cost as follows.
To record the quarterly receipt of the grant
	Dr.
	Certificate (SOFP)
	$ Fair value of certificate at receipt

	Cr.
	Deferred income (SOFP)
	$ Fair value of certificate at receipt


On the sale of a certificate: contribution to cost of production

When the certificate is sold its fair value may be recognised in profit or loss. It is treated as a deduction from cost of sales because it is a contribution to the cost of generating the 'green electricity'.
	Dr.
	Deferred income (SOFP)
	$ Fair value of certificate at receipt

	Cr.
	Cost of sales (P&L)
	$ Fair value of certificate at receipt


On the sale of a certificate: surplus/deficit

The certificate may be sold for more or less than its fair value at the time it was received from the government. This surplus/deficit is taken to/deducted from revenue in the SPLOCI.
	Dr.
	Bank/receivable (SOFP)
	$ Fair value of trade

	Cr.
	Certificate (SOFP)
	$ Fair value of certificate at receipt

	Dr. / Cr.
	Revenue (P&L)
	$ Balance (deficit/surplus)


Following HKAS 1 Presentation of financial statements, Coates is required to disclose its accounting policy in relation to government grants. HKAS 20 specifically requires disclosure of the nature and extent of the government assistance given and any conditions not yet fulfilled or related contingencies. The disclosures of unfulfilled conditions are unlikely to be extensive because an audit must be completed to show that the conditions have been fulfilled.
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